
12

34

5
6
7
8
9
01
11
21
31
41
51
61
71
81
91
02
12
22
32
42
52
62
72
82
92
03
13
23
33
43
53
63
73
83

A B C D E F G H I J L N O Q R S T

rebmuN tnuoccA
 lautcA 3102
tnuomA

 dednemA 4102
tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &

2594 00.0$ 00.05$ 00.0$ 00.0$ %001-

00.0$ 00.05$ 00.0$ 00.0$ %001-

00.0$ 00.05$ 00.0$ 00.0$ %001-

551_5284 69.77$ 00.0$ 00.0$ 00.0$

501_0094 56.663,135$ 00.886,441,1$ 50.438,334$ 00.0$ %81-

601_0094 47.293,955,1$ 00.555,306,1$ 53.552,864,1$ 00.0$ %0

701_0094 00.0$ 00.0$ 00.0$ 00.0$

801_0094 16.159,445,1$ 00.702,944,1$ 98.016,324,1$ 00.0$ %51

901_0094 46.240,77$ 00.319,670,1$ 19.322,159,1$ 00.0$ %81

011_0094 73.408,062,1$ 00.675,483,1$ )55.172$( 00.0$ %2-

311_0094 00.0$ 00.424,342,1$ 00.0$ 00.0$ %0

511_0094 79.331,263,1$ 00.0$ 46.312,566$ 00.0$

021_0094 73.801,274,3$ 00.240,575,3$ 61.119,706,3$ 00.0$ %7-

521_0094 00.0$ 00.0$ 00.0$ 00.0$

5194 00.0$ 00.0$ 00.0$ 00.0$

0494 00.0$ 00.0$ 00.0$ 00.0$

13.878,708,9$ 00.504,774,11$ 54.777,945,9$ 00.0$ %5

0074 92.748,562,3$ 00.0$ 03.029,123$ 00.0$

92.748,562,3$ 00.0$ 03.029,123$ 00.0$ +++

0194 00.0$ 00.0$ 00.0$ 00.0$

3294 00.0$ 00.0$ 00.0$ 00.0$

0394 26.830,809$ 00.888,374$ 74.828,244$ 00.0$ %001-

001_0394 14.170,896$ 00.007,655$ 24.778,215$ 00.0$ %51

501_0394 57.572,516$ 00.599,712,1$ 71.363,640,1$ 00.0$ %5-

TV ,notgnilruB fo ytiC

tropeR teehskroW tegduB

noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
dnuF 521 tnemeriteR

euneveR

tnemtrapeD 80 secruoseR namuH

noisiviD 000 nimdA

euneveR rehtO

rehtO - euneveR 00.0$ )00.05$(

euneveR rehtO :latoT 00.0$ )00.05$(

nimdA :latoT noisiviD 00.0$ )00.05$(
630 tnemeriteR

seuneveR latnemnrevogretnI

hsaC delooP no tseretnI latnemtrapedretnI 00.0$ 00.0$

)B( eriteR esirpretnE/veR cepS segrahC tnapicitraP 00.271,239$ )00.398,202$(

)B( eriteR dnuF lareneG segrahC tnapicitraP 00.697,465,1$ 00.727,2$

eriteR - esirpretnE & veR cepS segrahC tnapicitraP 00.0$ 00.0$

)B( eriteR - DEB segrahC tnapicitraP 00.665,535,1$ 00.937,712$

eriteR - loohcS segrahC tnapicitraP 00.754,520,1$ 00.726,881$

 aciF .F.G segrahC tnapicitraP 00.623,742,1$ )00.675,43$(

ACIF - DEB dna loohcS segrahC tnapicitraP 00.942,994,1$ 00.0$

ACIF - esirpretnE & .veR .cepS segrahC tnapicitraP 00.0$ 00.000,096$

)A( eriteR dnuF lareneG segrahC tnapicitraP 00.229,051,3$ )00.472,352$(

)A( htlaeH-  dnuF lareneG segrahC tnapicitraP 00.000,27$ 00.0$

tnemeriteR tpeD euneveR 00.0$ 00.0$

veR )B( birtnoC yolpmE 00.0$ 00.0$

seuneveR latnemnrevogretnI :latoT 00.884,720,11$ 00.053,806$

emocnI tnemtsevnI

 emocnI  tnemtsevnI / tseretnI 00.0$ 00.0$

emocnI tnemtsevnI :latoT 00.0$ 00.0$

euneveR rehtO

tnemeriteR - tnemesrubmieR ecnarusnI 00.0$ 00.0$

stpeD edistuO birtnoC  eeeyolpmE 00.000,030,1$ 00.0$

 snoitubirtnoC  eeyolpmE 00.000,000,1$ )00.888,374$(

)B( tnemeriteR  snoitubirtnoC  eeyolpmE 00.000,005$ 00.012,68$

)A( tnemeriteR  snoitubirtnoC  eeyolpmE 00.000,005$ )00.876,66$(
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A B C D E F G H I J L N O Q R S T

rebmuN tnuoccA
 lautcA 3102
tnuomA

 dednemA 4102
tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
93
04
14
24
34
44
54
64
74
84
94
05
15
25
35
45
55
65
75
85
95
06
16
26
36
46
56
66
76
86
96
07
17
27
37
47
57

87.583,122,2$ 00.385,842,2$ 60.960,200,2$ 00.0$ %02-

5354 40.11$ 00.0$ 49.629,5$ 00.0$

40.11$ 00.0$ 49.629,5$ 00.0$ +++

24.221,592,51$ 00.889,527,31$ 57.396,978,11$ 00.0$ %1
24.221,592,51$ 00.830,627,31$ 57.396,978,11$ 00.0$ %1

24.221,592,51$ 00.830,627,31$ 57.396,978,11$ 00.0$ %1

001_0005 32.714,63$ 00.660,03$ 60.439,33$ 00.279,82$ %4-

511_0005 00.621$ 00.000,2$ 60.469,2$ 00.000,2$ %0

511_0025 00.0$ 00.0$ 05.21$ 00.0$

031_0025 00.0$ 00.0$ 00.0$ 00.0$

001_0045 71.107,2$ 00.261,1$ 21.347,2$ 00.073,2$ %401

501_0045 00.0$ 00.0$ 00.0$ 00.0$

511_0045 )24.012,3$( 00.455,4$ 59.244,4$ 00.556,3$ %02-

021_0045 00.0$ 00.579$ 07.183$ 00.384$ %05-

521_0045 00.0$ 00.361,9$ 31.346,41$ 00.417,9$ %6

031_0045 59.871$ 00.815$ 56.218$ 00.863$ %92-

531_0045 00.0$ 00.84$ 77.37$ 00.34$ %01-

041_0045 45.815,2$ 00.0$ 00.0$ 00.0$

541_0045 00.012$ 00.021$ 00.05$ 00.021$ %0

74.149,83$ 00.606,84$ 49.750,06$ 00.527,74$ %2-

0006 38.735$ 00.002,1$ 41.109$ 00.002,1$ %0

5006 77.658,3$ 00.001,4$ 77.326,3$ 00.001,4$ %0

0106 00.165$ 00.005$ 00.0$ 00.008$ %06

5106 00.0$ 00.0$ 00.0$ 00.0$

0206 00.0$ 00.0$ 00.0$ 00.0$

0026 00.052$ 00.000,3$ 00.002$ 00.005$ %38-

2026 80.593$ 00.005,1$ 69.633$ 00.000,1$ %33-

3026 00.522$ 00.005$ 00.052$ 00.052$ %05-

0536 00.0$ 00.0$ 00.0$ 00.0$

0046 00.0$ 00.0$ 00.0$ 00.0$

001_0046 00.0$ 00.0$ 00.0$ 00.0$

euneveR rehtO :latoT 00.000,030,3$ )00.653,454$(

suoenallecsiM

 veR csiM 00.05$ 00.0$

suoenallecsiM :latoT 00.05$ 00.0$

tnemeriteR :latoT noisiviD 00.835,750,41$ 00.499,351$
secruoseR namuH :latoT tnemtrapeD 00.835,750,41$ 00.449,351$

slatoT euneveR 00.835,750,41$ 00.449,351$
sesnepxE

tnemtrapeD 80 secruoseR namuH

noisiviD 000 nimdA

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.939,82$ )00.490,1$(

yraropmeT/lanosaeS segaW dna seiralaS 00.000,2$ 00.0$

noitasnepmoC rehtO ecivreS lanosreP rehtO 00.57$ 00.0$

elbaxaT ecnawollA ecivreS lanosreP rehtO 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.763,2$ 00.802,1$

ecnarusnI tnemyolpmenU stifeneB eeyolpmE 00.0$ 00.0$

B tnemeriteR stifeneB eeyolpmE 00.0$ )00.998$(

noitasnepmoC srekroW stifeneB eeyolpmE 00.0$ )00.294$(

ecnarusnI htlaeH stifeneB eeyolpmE 00.798,8$ 00.155$

ecnarusnI latneD stifeneB eeyolpmE 00.815$ )00.051$(

ecnarusnI efiL stifeneB eeyolpmE 00.07$ )00.5$(

pmoC/kciS/caV deurccA stifeneB eeyolpmE 00.0$ 00.0$

gnikraP eeyolpmE stifeneB eeyolpmE 00.021$ 00.0$

secivreS lanosreP :latoT 00.689,24$ )00.188$(

gnitarepO lareneG

seilppuS eciffO 00.002,1$ 00.0$

egatsoP 00.005,3$ 00.0$

tnempiuqE retupmoC 00.005$ 00.003$

erawtfoS retupmoC 00.0$ 00.0$

tnempiuqE eciffO 00.0$ 00.0$

seilppuS dnA seeF lacideM 00.000,3$ )00.005,2$(

tgM repaP/gniypoC/gnitnirP 00.005,1$ )00.005$(

snoitpircsbuS/seuD 00.005,1$ )00.052$(

gnisitrevdA & ecitoN lageL 00.0$ 00.0$

seitilitU 00.0$ 00.0$

yticirtcelE seitilitU 00.0$ 00.0$
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A B C D E F G H I J L N O Q R S T

rebmuN tnuoccA
 lautcA 3102
tnuomA

 dednemA 4102
tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
67
77
87
97
08
18
28
38
48
58
68
78
88
98
09
19
29
39
49
59
69
79
89
99
001
101
201
301
401
501
601
701
801
901
011
111
211

501_0046 00.0$ 00.0$ 00.0$ 00.0$

521_0046 98.504$ 00.544$ 58.723$ 00.544$ %0

721_0046 00.0$ 00.0$ 00.0$ 00.0$

001_0056 00.295,58$ 00.000,011$ 00.446,28$ 00.000,011$ %0

601_0056 00.0$ 00.000,51$ 00.0$ 00.0$ %001-

211_0056 27.029,81$ 00.000,52$ 00.000,01$ 00.000,52$ %0

811_0056 00.0$ 00.000,1$ 57.95$ 00.005$ %05-

001_0076 00.0$ 00.005,3$ 39.409,1$ 00.000,3$ %41-

011_0076 23.124$ 00.000,1$ 00.75$ 00.005$ %05-

001_0086 00.0$ 00.0$ 00.0$ 00.0$

501_0086 00.0$ 00.0$ 00.0$ 00.0$

041_0086 00.0$ 00.0$ 00.0$ 00.0$

001_0027 00.0$ 00.0$ 00.0$ 00.0$

511_0027 00.0$ 00.0$ 00.0$ 00.0$

501_0327 80.316$ 00.002,1$ 31.527,1$ 00.603,1$ %9

701_0327 00.0$ 00.0$ 00.0$ 00.0$

511_0327 00.238$ 00.0$ 78.298$ 00.479$

001_0097 00.0$ 00.0$ 00.0$ 00.0$

96.016,211$ 00.549,761$ 04.329,201$ 00.575,941$ %11-

5108 00.734,9$ 00.000,51$ 69.575,31$ 00.823,9$ %83-

6108 00.68$ 00.561$ 83.49$ 00.301$ %83-

00.325,9$ 00.561,51$ 43.076,31$ 00.134,9$ %83-

61.570,161$ 00.617,132$ 86.156,671$ 00.137,602$ %11-

001_0005 00.0$ 00.0$ 00.0$ 00.0$

001_0045 00.0$ 00.0$ 71.963$ 00.0$

531_0045 00.0$ 00.0$ 00.0$ 00.0$

5096 53.110,445,2$ 00.225,257,2$ 51.149,654,2$ 00.0$ %3

01_0196 84.817,63$ 00.000,63$ 59.009,71$ 00.0$ %74

02_0196 28.075,65$ 00.000,93$ 65.922,65$ 00.0$ %8-

56.003,736,2$ 00.225,728,2$ 38.044,135,2$ 00.0$ %4

011_0056 17.025,506$ 00.000,006$ 79.461,274$ 00.0$ %0

311_0056 33.333,31$ 00.000,01$ 00.052,11$ 00.0$ %05

811_0056 00.0$ 00.0$ 00.0$ 00.0$

saG seitilitU 00.0$ 00.0$

snoitacinummoceleT seitilitU 00.005$ 00.0$

snoitacinummoC ralulleC seitilitU 00.0$ 00.0$

 seirautcA secivreS tnatlusnoC dna lanoisseforP 00.000,011$ 00.0$

yenrottA ytiC secivreS tnatlusnoC dna lanoisseforP 00.000,51$ )00.000,51$(

stiduA secivreS tnatlusnoC dna lanoisseforP 00.000,02$ 00.0$

secivreS lautcartnoC secivreS tnatlusnoC dna lanoisseforP 00.005,2$ )00.005$(

noitacudE gniniarT & levarT 00.005,3$ )00.005$(

esnepxE levarT gniniarT & levarT 00.005$ )00.005$(

enohpeleT  secivreS rof seeF 00.0$ 00.0$

segrahC ataD TB  secivreS rof seeF 00.0$ 00.0$

esnepxE ytilatipsoH  secivreS rof seeF 00.0$ 00.0$

ytreporP esaeL/tneR 00.0$ 00.0$

tnempiuqE esaeL/tneR 00.0$ 00.0$

lareneG ecnarusnI 00.004,1$ 00.601$

ytreporP ecnarusnI 00.0$ 00.0$

sesnepxE dna smialC ecnarusnI 00.007$ 00.479$

.ecrofnE gnikraP - eciloP oT refsnarT dnufretnI 00.0$ 00.0$

gnitarepO lareneG :latoT 00.003,561$ )00.073,81$(

dnufretnI

seeF tceridnI 00.838,51$ )00.276,5$(

tnemeganaM ksiR 00.261$ )00.26$(

dnufretnI :latoT 00.000,61$ )00.437,5$(

nimdA :latoT noisiviD 00.682,422$ )00.589,42$(
630 tnemeriteR

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.0$ 00.0$

ecnarusnI efiL stifeneB eeyolpmE 00.0$ 00.0$

ecnattimeR ACIF 00.000,006,2$ 00.874,09$

eciloP ecnattimeR noitasnepmoC derrefeD 00.000,53$ 00.578,61$

eriF ecnattimeR noitasnepmoC derrefeD 00.000,73$ )00.092,3$(

secivreS lanosreP :latoT 00.000,276,2$ 00.360,401$

gnitarepO lareneG

tnemeganaM tnemtsevnI secivreS tnatlusnoC dna lanoisseforP 00.000,565$ 00.0$

naidotsuC tsurT secivreS tnatlusnoC dna lanoisseforP 00.000,01$ 00.000,5$

secivreS lautcartnoC secivreS tnatlusnoC dna lanoisseforP 00.0$ 00.0$
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A B C D E F G H I J L N O Q R S T

rebmuN tnuoccA
 lautcA 3102
tnuomA

 dednemA 4102
tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
311
411
511
611
711
811
911
021
121
221
321
421
521
621
721
821

001_0096 50.377,683,01$ 00.000,080,01$ 31.990,275,01$ 00.0$ %52

501_0096 64.823,83$ 00.000,001$ 06.569,931$ 00.0$ %57

601_0096 98.060,19$ 00.000,051$ 60.085,65$ 00.0$ %05-

44.610,531,11$ 00.000,049,01$ 67.950,252,11$ 00.0$ %42

001_5747 88.474,51$ 00.005,21$ 11.123,21$ 00.0$ %43

88.474,51$ 00.005,21$ 11.123,21$ 00.0$ %43

79.197,787,31$ 00.220,087,31$ 07.128,597,31$ 00.0$ %91
31.768,849,31$ 00.837,110,41$ 83.374,279,31$ 00.137,602$ %91

24.221,592,51$ 00.830,627,31$ 57.396,978,11$ 00.0$ %1

31.768,849,31$ 00.837,110,41$ 83.374,279,31$ 00.137,602$ %91

92.552,643,1$ )00.007,582$( )36.977,290,2$( )00.137,602$( %778

24.221,592,51$ 00.830,627,31$ 57.396,978,11$ 00.0$ %1

31.768,849,31$ 00.837,110,41$ 83.374,279,31$ 00.137,602$ %91

92.552,643,1$ )00.007,582$( )36.977,290,2$( )00.137,602$( %778

stnemyaP tifeneB tnemeriteR stifeneB dna smialC 00.000,008,8$ 00.000,075,2$

 )A( stnemyaP eriteR tifeneB-noN stifeneB dna smialC 00.000,002$ 00.000,57$

)B( stnemyaP eriteR tifeneB-noN stifeneB dna smialC 00.000,002$ )00.000,57$(

gnitarepO lareneG :latoT 00.000,577,9$ 00.000,575,2$

ecivreS tbeD

 noitartsinimdA CIPV seeF tnegA gniyaP tbeD 00.003,21$ 00.052,4$

ecivreS tbeD :latoT 00.003,21$ 00.052,4$

tnemeriteR :latoT noisiviD 00.003,954,21$ 00.313,386,2$
secruoseR namuH :latoT tnemtrapeD 00.685,386,21$ 00.823,856,2$

:slatoT euneveR 00.835,750,41$ 00.449,351$

slatoT esnepxE 00.685,386,21$ 00.823,856,2$

tnemeriteR :latoT dnuF 00.259,373,1$ )00.483,405,2$(

:slatoT dnarG euneveR 00.835,750,41$ 00.449,351$

:slatoT dnarG esnepxE 00.685,386,21$ 00.823,856,2$

:slatoT dnarG teN 00.259,373,1$ )00.483,405,2$(
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